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Multiplication (Vertical) Name:
Solve each problem. Answers
1) 8,087 2 3,216 3 8,482 4 3922 X
X 3 X 7 X 9 X 5 '
2.
3.
4.
5 9,639 6) 5,040 ) 9,819 8 8,747 i
X 2 X 9 X 8 X 8 '
6.
7.
8.
9  7.941 10 2277 1) 2.454 12) 4,001 .
X 9 X 8 X 3 X 7 '
10.
11.
12.
13 9,189 14) 9,110 15 5,042 16) 4,990 .
X 3 X 9 X 6 X 5 '
14,
15.
16.
17) 3,421 18) 4,784 19 2729 29 8,065 .
X 6 X 2 X 7 X 6 '
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical)

Name:

Answer Key

Solve each problem.

1) 8,987
x 3
26,961

5 9,639

19,278

9 7,941

71,469

13 9,189

27,567

1) 3,421

20,526

2)

6)

10)

14)

18)

3,216 3 8,482
7 X
22,512 76,338

5,940 9,819
9 X
53,460 78,552

2,277 1) 2,454
8 X
18,216 7,362
9,110 15 5,042
9 X
81,990 30,252
4,784 19) 2,729
2 X
9,568 19,103

4)

8)

12)

16)

20)

3,922

X 5
19,610

8,747

X 8
69,976

4,001

X 7
28,007

4,990

X 5

24,950

8,065

X 6
48,390

Answers

1 26,961
2 22512
3. 16,338
4. 19,610
5. 19,278
6. 53,460
7. 18,552
g. 069,976
o. 71,469
10. 18,216
1. 1,362

1. 28,007
13 27,567
14. 81,990
15, 30,252
16. 24,950
17. 20,526
18, 9,568

19. 19,103
2. 48,390
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